
ПРИКЛАДНОЙ СИСТЕМНЫЙ 
АНАЛИЗ В ОБОГАЩЕНИИ 
ПОЛЕЗНЫХ ИСКОПАЕМЫХ
УЧЕБНОЕ ПОСОБИЕ

ИНСТИТУТ ЦВЕТНЫХ МЕТАЛЛОВ  
И МАТЕРИАЛОВЕДЕНИЯ



� ��!""#$%&$'
((��))#*�$)

+$,-

� � � � � � � � � �.�
���������	
��

�/����������1�3�4����1���
�/���
4�����
��
����

5�����
��� 1�3��� �� 1�3�4���
�� ��1�
�
���� �������
�
� 
���������
�
������
�������3�����
�6

�������	�
���
/� ��������� 1�3�4����1� ��
�/� ��
4���� �
��
�����
5�����
��� 1�3��� �� 1�3�4���
�� ��1�
�
���� �������
�
� 
���������
�
������
�������3�����
�

+$,-� �������	
��
�
���	����	�������
�
����	����
���	��
�
�
������ .� 
4��#� 7
�
��� 8� 9# 5# (�����/� :# ;# (
����
	�/�
;# ;# +�
����
	�/�5# 5# (�����	�# <������
���� .����#������#

�=�/�"&"&#�<�")> ?#

@ABC�-$>=,=$!)>=*)D)="

����3
������7�����7�/�3��
�����������	��������
	�������
E��1�
�F��=
�
	����
��
	��7������	�������1�	��
�������������3�/��	��GH������
37����
3
	���3
�	������1��
���	��1�I��3���
	���
�F�����GH�1��1��	
���	���7�
���=
�
	#�+
�����
���7
���
	����������3�
�
�������������������������4�	��3�E=
��1�
������1�������/�
7��	�����������3�3����7��������
�
��
	����1�����=
����	�
��
	��1���7
��
����7��
��
�����
�3����/�
�����4���
�������
��
	
�����������	��3���#

+��������4��
� ���� ��
����
	/� 
�
4�GH�1��� 7
� �7�������
���� "D#&,#&*�
JK
��
�����
L/��7������������"D#&,#&*#&&#&!�JM�
��H�����7
�����1����
7��=
3�1L#

������
		��������	������	���
��� ���� !!�"#$"%
&''(�))*+'+,-.�/01234+/�41 55��66�7�"6

@ABC�-$>=,=$!)>=*)D)=" N����������������������

��	�������/�"&"&



3


������	��

889�9:;9 ���������������������������������������������������������������������������������������������������5
=>?�9@�A���BC:B8D�C;CE9F:BGB��B�HB�>
;�E9B=;;�C;CE9F �����������������������������������������������������������������������������������8

G�����A��B
	
�����
����
�
������������������������������������������������������������������8
D#D#�+
�����������3�###################################################################################-
D#"#�M��
	������7�������3###################################################################### D*
D#)#��	
���	�������3################################################################################# D-
�
���
������	
7�
������������############################################################# "-

G�����!��B
	
���
�
���	
�
��	������������������������������������������������������� 6$
"#D#�+
����
	���7�
���3� ####################################################################### )D
"#"#� ��
37
�������������� ##################################################################### )*
"#)#��������4������3��
� ######################################################################## **
�
���
������	
7�
������������############################################################# ,&

G�����6��8
�	��	
��	�����J�
�KL���
�
����������������������������������������� MA
)#D#�O	
�G���############################################################################################ ,D
)#"#�9
�����
	�������
E�
���################################################################ ,,
)#)#�M���������	����<�7
�
E�����������
������������######################### ,-
)#*#��
�����I	
�G��
���
GH��������3� ############################################# !)
)#,#�P�7��	����
����I	
�G���################################################################ !,
)#!#�O	
�G������E�����
�������3�####################################################### $D
)#$#�O	
�G���������	
�
��
37����� ####################################################### $!
�
���
������	
7�
������������############################################################# >*

=>?�9@�!�����C�9=;F9:E>@N:B9�;CC@9�B8>:;9
;�FB�9@;=B8>:;9�C;CE9F�������������������������������������������������������������� O 

G�����7��F
�����
��	���
�
��� ����������������������������������������������������������� O 
*#D#��
�����
	����������7
�
���
H���	
	���� #################################### >>
*#"#�;�������������������3��
���7
���
�����3
�����########################## -&
*#)#�����
	���
����3
�����������3######################################################## -"
*#*#�M��
�
��4���
��������
	����######################################################## D&&
*#,#�M�H���1��������������3��
�
	�@QRS############################################ D&"
�
���
������	
7�
������������########################################################### D&>

G�����M����
������	����
����
�������
�
���	
���	����������������� A$P
,#D#�O��7���3������������������7���3����� ################################### D&-



4

�
��������

,#"#�M��
	����7
�1
�������������4���
��
�����
��3
�����
	���G#�+
����������������######################################### DD)

,#)#����
����������################################################################################ DD$
�
���
������	
7�
������������########################################################### D)&

=>?�9@�6����=B;?8B�CE89::B2E9H:;Q9C�;9�C;CE9FD
F;:9=>@N:B2CD=N98BGB��BF�@9�C>��������������������������������������� A6A

G����� ��B�
�������R	
����
���
�
��
�����
�
S	���
�
���� ����� A6A
!#D#�M�
��H�����7
�����1����
7��3�1����������3�������� ############# D)"
!#"#��
��
�
���������3��
�
���������
�
�7�
��	
���	� ################# D),
!#)#�O	
�G������1�
�
��4���
��7
������3�####################################### D*)
!#*#����������
=�����	���7
������3�################################################# D*!
!#,#�+
������3��
7��	��������4���	
3������ ##################################### D,&
!#!#��3�����������################################################################################## D,*
�
���
������	
7�
������������########################################################### D,$

=>?�9@�7���E9H:B@BG;T��=;�@>�:BGB
C;CE9F:BGB�>:>@;?>��������������������������������������������������������������������� AMO

G�����"��B
	
�	
���
��
�����	����U������
���
���
����
����������� AMO
$#D#�M��
	����7
����� ########################################################################### D,>
$#"#�M�H����1�3������4��
�������� ####################################################### D!!
$#)#��
���	�������7����������1
����
	 ############################################### D$D
$#*#�9��	������7�
���3�
�
�3���	�##################################################### D$>
�
���
������	
7�
������������########################################################### D>!

G�����O��8����
�������������L�����V�	��������������������������������������� AOO
>#D#�M7�����������
����
���
��########################################################### D>>
>#"#�T���	��	����� ################################################################################# D-&
>#)#�M7������������������	################################################################### D-!
>#*#�O��7���3�������
��������
	����������3##################################### D->
>#,#�+
���
�������
�
	�������	
	�����3
����� ################################ 200
>#!#�K������
	���������������	 ############################################################ 202
>#$#�9��
�/�����7�������/�������� ###################################################### "D!
>#>#������������
�
4��GH��
�	3���������	�##################################### 222
�
���
������	
7�
������������########################################################### ")"

?>�@WQ9:;9���������������������������������������������������������������������������������������� !66

5;5@;BG=>X;Q9C�;Y�C�;CB������������������������������������������������������� !6M



5

�����	��

�
���J�����3����������L��
���E���	 �����
��
	�����������
4=
�
�
���7��	�����/��
 ��
�����������	������4��7�	�GH�3��
�
	
���	
3
7
 I�
��
���������
��#�������4�����������3���������� <�I�
�	 ���4�=
�����
�����7����3���3���4�����������7����/��
�
��������3���������=
���
��
��3���3���4����1�3��
�
	�������
	������ 
7��	�����������3�=
3�#�� ����
�H�3
�	��3����I�����
���7�
�	��
����������
�� 7��
�����
�
�3����
=3���3���4������
����/��� 	�������
��
7����������7
���
=
	�������E�����3���������
���1���7��	��������E������#�M����
�����
��7��	�����������3�
�
����������
�����
3�������
�
�7����/�
������=
�
	������7���3
H���	���
��� ��1�
�
�������
���� �G��3��� 	1
��=
H���	 3����E3���/��
��
�
��G/�7
���
�
��G�� �
3
�7
�
�����
������
������#� O�
� �
/� 4�
� 
�F���������� ���3��
3� J7�������
�� �����3����
������L#�:���������3����������/�7��	��������� 	��
/����������3
E�

	���������/� 3��
	
�����4���
3
#� :�
� 3
E�
� 
7��������� ���� �����3=
����7
�1
�/���� �����3�
��3�������#�O�
������3��	�����
	�� 7
�1
=
�
	�� ��
4���G�������
���/��
�
���������
������
������� �������/�4�3
�� ���������	�����/�4�
�7
�	
�����7
�
4�����
��������	���
��7������	=
������
 ��1#�P��
���/������
�H�����
���������3/��3�GH���3��
�
�
��=
4���
G���7��	����
���#

9 I�
3��
������������7
7������
��������I��3�����I��1���7��	=
����������3�
����
3/�4�
���7���
���	�����
�
H�3
���E����
=
�
��=
�����G�3���3�������%	 �

�	����	���� 	��������3�
�F�3
3�
4���
�
���
��'� ���
�� �����3��1� �����
3���
	/� ��
�1
��3�1� 	 ��
� �������=
�
���#� P����3��� ���E�/� 4�
� I��� �����
3����� 
��E
���� 7
�����3�
�� �
���
� 	 7�
�����
�����
�� ��������
���/� �
 � 	 
��4�
��E����/
7
�	
���� ������ 
	������ J3�1����
� �����L#�M��
	�� �
���� U� 7������	=
������
 �����3�1/��1 
���
���	��� 3�����	 ������
3�3���#�O�
��
/�4�

����	�G��J�����3�
��3�������L#

�����3�
��3�������������	
�3
E�
����7�
����
����� 7�������
�
�
/�4�
�7������	���������
���
	����3��� ����	���3�3���
�����3�/
� 
	��������E�H���	 �1 
��
	�����
��
��#�(���
�����I�
3
�7
�
4�����
���7
���	�����	����3�E�
��
�����3�����
	�������	
	�����	
G��7
�
�=
�
����7
��3�����1 � 	�������� ��1#



6

��������

V�
�7������	������
�
�������3�W������3� <�I�
���4�
����
�/�4�

	 ���
�������	���3
�����	����	
�1�4������7
����E�	�����	
���
H���	
=
	������ �
����
���
�����������
�����
�#�M���4����7��3���U�4��
	�=
4���
�����
#�M�
��
��
����� 3�
E���	�������4��1�
����
	/�� ��E����
�����	
���
������
/��
 7���I�
3�	���
������
��G��	3������ ��E����	��=
������ 	�����
���#�K������ 3
E���	�����/�� �
����	����������������E����
��
	�G#��
���H������
E��1�3�����
��������
	��7
 	���3�� �����
#
P� �������������� 7�H�	�������	���G�������3����/�� �
��
�����7�=
H�	������/�	 �	
G�
4�����/�
����	����	��������� 3����/�
�
����
�7
=
����
��
	������
�
�
��������/���
�
�
�/�	 �
��
������
�
��#

X��
 <�I�
���
E���������3�/���� E������� ��3��/�������/��
�����=
������
77�/������3��
��E��������� ��1�
�
��4��������7
4����������#�
YG��/�7���	�������������7�
���3��
�H���	�/�I�
�
3����� 7�
��	
�=
��	�/�1
���� �
�
	
���	
G�����
���3����3������3�/��
 4���
�����G�
���
���G� �H�� 1
E�#� M�F�3� ���
�3����� ��7����	�
� ������/� �
 	���
��
�������	����������7
����
G#�; ����I�
�
��
7
��������������
�3�=
�����
���
����	����� �
��
#�Z
4�����
7�
�����#����
3�����/�7��	������
7
�1
���
��
���	 �
3/�4�
�������3�������������	����	7����/�7�����
=
	����� 7���	�������
��
��
4����7
������	�������1������	��#�P
 ���
�3���
� I�
�3
E�
� �������W� �E��	 ��4�
��E�������� �� ���
��/� ��=
�3
���� �� 	��� 
�����/� ����� 3
�
�� 7
���� �
	��3� �� ���/� ���� 1
���
��
��� ���
�����4����
#�X
/�4�
������
���7
��
���G�
7��	���3�3/�	��
�
��4������ E���� �
���	���
�� E����G#� +
�
�� 	��� ����
	����� ����
��=
�
� ��
E��3/� 4�
� 1
4����� 
7
������ �
��#� �����3�
�� 3�������� U� I�
�
7
�1
�/��
�
����7
�	
�����
	������� 7
������3����� ���
�
3���
����
	 ����G���3�1� �
�����1/� ���� 4�
� 3
E�
� 7
��
�
	������ � �
�
H�3

� 	 
7��������
�����7����7
	�������� ���
#�O�
����4��/�4�
�7
�	������
	
�3
E�
����	 ���
�
�
3��3�����
7��	��������
�����#

���
G�7
���
�3
E���7�������������3�
��3�������/�������
	
=
������� �
���
�
 7�
�����
�����
����������
���W

9� 7
�
4���� 	
�3
E�
���� I������	���� 	����
���� �	
G�E����/
�������
4������	���������
�
3���
���/�
7��	��GH���7�
��1
��H�3�
	 ���� �
�����3�#�O�
� 
���4���/� 4�
� 	� �3
E���� �
���
���
	���� �	
�
��
�
	��/� ���
�
/� �������� � ��4���� 	���3

��
�����#� 9� �
�����
�� �
��������7
3
H���7���������
H�3/�� �3
E����7��������	�����
=
������� �
�
	������� ��3#



7

��������

9� 7
�
4�����
����I������	�
��������	
�������������7�
���3�
� �
���������	������3���������������������#�(
������� 7�
��
��
4��
�������7�
���3�/��
 � �
3�������3������7
�
E��GH����1 3�������#

9� ����	������
� ��	��4�	
�
�� 3��
7�
�
���	�
�
�
������3��=
������ J4�
��� 7
����/� ���
� 
7�
�����L#� �����3�
�� 	������� 7
�	
���
������������	 ������
3�3���/��� ��7�������� 7��3���	����3��������=
�����1�3�#�P�4�����
�3��
	������7��	�4������
���/�
��
E������ ���
=
���
	���������3�/�	3���
��
�
/�4�
����
3����� 7��7����
	�����1#

M����
����	 7�
��
3����/�7
 ��������3���/�����
���
���������3��
���/��
����	�3�7��1
������J��7�����������
�	��1����L#�������7�
���3�/
3� 4���
� 
7
��
� J�
3�3��� 	 
�������� �	���L� � �
���
� 7
�
3� 	���=
���3/�4�
��
E�
����
�	���
������7
���
����
4�
��� ����#������3�
�
3����������������� ����G4������	 �
3/�4�
��������/�� ���
����
�
��
���7
�
E����7������ 	 ���
G���
�
�
�
����	�������	���#�:����	� I�
�
������/��
 �
����
4�
����
���
��
���
�����#

�����3�
��3��������U�I�
�
��
	��4���
����	 3����1�� 
�H����/
I�
�7
���� �
3
/�4�
���	�������
������ ������#�M4�	������
�F����=
������
������	����/�� 7��	
����� 	�������� ��
�
����
�������	�#�9���
��
�
G/��
�������
�
G�� 3�
�
�����
G�������
/� 	� �3
E���� �
4����
7
�����7�
��1
��H���� �����	
	�������/�4�
���	 �
��
��
4�
��7���7��=
��	��7
�
4��������
4�������
������#

�����3�
�� 3�������� ��
�1
��3
/� 4�
��� �
���� I������	�
�

7��	����� �
�
�� � ��
��3�#� 9 7�
������� 
�
� 7
3
E��� 	�3� 7
���4��
��
E�
����7�
����
	/�� 	� �3
E����7
����/������1 
�
4����#������3=
�
��3��������
4����
���	�����
3������ ��7��	�������
77
	
G����
�
/�
7
�
3
�4�
��G������
77����� �
3����������	
������������3�#



8

�������	



	
���
�
���	
�
��
��
���
����
����
�
���

5�
4����������7����������3�
�
�����������4����������7
��3�=
����
��
	/����
�
��3�3
E�
�
����������	���
����
�	�����������
GH��
����	
7�
��.

D# V�
��	������������3
�/����4�
�
���7
1
E�/�4�3�
���4�G����
��
��=�����3���7
4�3
�I�
���������	�E�
W

"# ����3
E�
���
4���������3����4�3�I�
���
4�����
���4������
�

��4��1�3��
�
	�������
	����W

)# ���
	��7��4���������
4����������3�
��
�����������
�F���
	
������
�
�3���W

9� ���1� ���	�1� I�
�
� �������� 7���7������� 7
7����� ���
�������
	 I��1�	
7�
��1#

������� ���

	
�����
����
�
���

����������	
���	

	���	����
���������
	���
���������������������
������������

���������������

M�F���
3���
4����� �����3�
�
� �������� �	��G���� ��
E���� ��=
���3�#� +
������ J�����3�L� ����
� ���
�
� ��7
���
	������ 	� [[ 	#�
 �������
��	��3��
�
�7��3����
���	���3
3�
�H�3��3����#�P�����
�
���
�
�
� �
�3����
	���
�
� 
7���������� ����
�
� 7
�����#� +
� 3����
���	����������7�������������4���
�
���7��	�����/�
�
����
�	��	����
�����	����3���	��������3�	������4����������4��
	�4���
���������=
�
���� 	�4���������
�� ��1����/� 7
�	������ ��
�1
��3
�����
�3���=
�
	����7
��������
E�
�������3�/�7
7���������������
����
�
��
7��=
�������#



9

����������
������������
�
���

��������� !"�#!# "$%

9�7
	�����	�
��E��������3���J�����3�L���7
���
G��	���1���
=
4��1/� �
���� 1
���� 
1���������
	���� 
�F���� ���� ��4�
� ���
�/� ��
E�
�/

�4�3���	
�3
E�
�����
������7������	�����#�+���7
��������/�4�
�����
1�������������� �����3�� ��
�1
��3
� ����3
������ ������� ��7����� ��
�
����
���
	����/�7�
��������
	���������4��������	
���	�#�9�����=
���
���	����4�������
���
���
��4���	
�
7���������������3�#�9���
���

���E�G��������������	�E������
�
�������
�
�
�F����#�M�������
�
��
�
�������
7
����
	����
������G����*,������1�
7���������\

�������
7����������7
������J�����3�L�
���E�G��	����������I�

7������	������������4��1�
��������������#�V�
����
���	����	
�3
E=
�
G�������
��
�
/�4�3���3�7�����
�������3������������/�����3����
=
�
���������1.

] �
	
�
7�
���� I��3���
	/� ��1
��H�1��� 	� 
7���������1� 
��
=
�����1����	���1�3�E�
��
�
����
����
GH�1����
�
�
�����
���
������=
��	
6

] �
	
�
7�
��������3�
E���	
��	������1�3�E�
��
�
��I��3���
	6
] 
7
���
4�������
	
�
7�
����3����������1�
�F���
	�%I��3��=

�
	'/�
�F��������1�����3�=���
��	���3��%3�1���4����3�/����
�3���=

���3�'/� 7��������4����1� ���� �
���E����� 
7��������
�� ����� �� �
=
�����GH�1��������
4��3�%7
�	
�3
E�
���'�
����
36

] �
	
�
7�
����4�����������
37
����
	/��	������1�3�E�
��
�
��

���������
��
#�+���	�1
�����������3��4��������7�
�
�E�G����7���=
	���������������	���������7�����7�	�G����3������6

] ���
��	���3
�	������1���	���3
��	���3�1�4�����/��
���	���=
��1�	����
3�7
�����/��
�
����7
�	
�����	
�7�
��	��������
�6

] ������	���
�� �
��������� �
���	��1� 4�����/� ��3
��
������
�
�
H���	
GH�1�	�7���
��/������E����4�
����������
�/�7
�
E����
��	
=

���E����3�4��
	���#

+��	�������� �
�3
���
	��� 7
�	
��G�� 	�������� 
�H��� 4�����
7
�1
�
	���
7��������G������3�#��
H���	����3��4�����������7�
��

��
E�
����	��3��������4������
�
��
��4���	��	1
��H�1�	�����I��3��=
�
	/�� ����
�������	

����/�����4����	�����3�E�
�
�F����3�#��	���
�
����
4�
����4�3�������
�
/�4�
�����3������	1
��H���	������3
�
�F=
����#�5����
���/�	�E�
��4���
���	������ �������	�	
��/� �# �#� �����3��



� 

!����������
�����
�
�����
��	��"�������������
�
����

�
������	�I�
3���
E�
3�	����%�����
������
���	�����'����
�	
������
� 
��
E���������3
��
������
�����	�7
����������
�
�
���
�����/��
=
���E�����
7��������
������#

X��
�� J������4�����L� 7
�1
�� �� 
7��������G� �����3�/� �# �#� �
=
���	�����������
�
�
7������/�
����	��������� �����
3�7�
�
���	��3�
��=���3�
�
�����
�����	�����������3�
���#�+
I�
3
��
��������
��
��=
��	��������
�����������#� ���7�
������1���
4��	�7���G������
�3
��=
�
	����7�������/�������
�1
��3���
��
	��/��
�
/�4�
��	����������
��
����3����	�������������3
6��������
�������	���
�
�
���
4����������3�

7���	�G���1��	
���	�/�4�
����
����������
������#

CU�	

�R�
�
���	
�
��
��
�����
�
���	
�
��	�����
�����3���� ������� ���� �����7����� ��
�3��
	����� 	� ���
�������


�
���������
�1
��3
����������
	������7�
�����
	������
E���������=
3�/�
7��	������3��	�
��
	��1���7
��
������
�3����/�
�����4���
���
���
��
	������������	��3���#������3������������	����������������3
���	����3����
�
� ����������7���/� ����1� ����������
	����� 
7������/
��
����
7��3����
�
�
7��	�����/���
����7���������������/�I��7���=
����������/���
����
�����������I��7�
������������3����# �#�X���3�
�=
���
3/� �����3���� ������� U� 3�E�����7��������� �
��/� 
�
�H�GH��
3��
�
�
��G�������
	�������
E��1���1��4����1/�7���
���1����
��=
�����1������3#

M4����4���
/�����
E����
������3�
3����������������3�1/�����
	

J�����3�L��
��	��G��I7�����J��
E���L#����
�
��
	
��/���
E�
��������	=
���������
�1
��3�3��	
���	
3������3�#�:���������3��
4����7�
����/�
�
�
������3����3�����
�����G��	��3���	
���	�3�������3/�	��
3�4����
	�E�����3������1���������������	���������������3��<��������
�
�-
��#�P
������3����������/���������
���������7����/�7��������4������
������
4�������
7��	�����������3�3�/�
�������
�����7��E���	���
����
�����3����
E���#�M�F��������I�
�
�������
4�	���
.�7�
��
G������3

3
E�
/� 7��� ���
�
�
�� ��
����������
���/� ��
4���� 
E�� �3�GH�3���
�������4����3��3��
��3�#�P��
H����E�� ��
�1
��3
���� 	� �����3�
�
3��
�
�
���� 	
�������/� �
���� 1
�
�
� 
�	
������ ������	�� ��
4����
7�
���1�
�F���
	�7������G�����
����#

�� �����3��3� ������
3� ����
� �	������ �
37�G������� 3��
��#�
��
E�
���� �����3� 7
�
E����� �
���
�� 
�F�3� �����1/� ��7
���
�3�1�



��

����������
������������
�
���

7����1���
4�������
7��	�������3�#�9�I�
���	�������
�
������������=
�
	�������7
����G�/�4�
������3�����������U�I�
��
	
�
7�
����3��
�
	/�

��
	����1������7
���
	������
37�G���
	���
�������
	����1������=
����
	�������
E��1������3.� ��1��4����1/� I�
�
3�4����1/� I�
�
��4�=
���1����# �#�

T��������
��7�
���3
�� �����3�
�
� �������� �	������� 7�
���3�
7���������������#�+��3��������
�������4�3�������
	����/�7�
�����
=
	�������
7��	��������
E��3�������3�3��7�
���3��7���������������
�	��������	��
�
3�
7��������
������������	��	�
��
	��1������4�
�

�
��� ��
7��������
���#� P�
7��������
���� 
�
��
	����� 3�
�
�����=
������
���G� ����4� 
7��3������/� ��
7��������
���G� ������ ���	����
�����3/���
��
���4�
���G���������	����	����������3�/����
����
4�
=
���G��7��
��
�����
�3�����
������3�/�	
������	��3���
4����1����=
�
�
	�	�1
�������3�4���
�
����	����������3����7�
4�3��
��
	��3�#
�4���	����������
���
�������	�/������3�����������3
E�
�
7���������
���������7���
/�����3�GH
G���7�
���3�3��7����������������	�
��
=
	��1/��
����	��
������������	������
�������������
E�
�����
�3����
�����4�
������4���
��7���
��#

;
�
����
��	
���	���
�
���	�������
�����	��
����
GH�3� I��7
3� 	� ���	����� �����3��1� 7������	������ �	�=

��������
���;# ;#�(
����
	�/��
�
����	���4����[[ 	#���4����
���	����
��
��G� 
����������� %��
�������'#� M��
	���� ����� ��
���� ;# ;# (
�=
���
	������G4������	��
3/�4�
�	����
H���	
GH���
�F�������7�
������
�3�G�� 
7����������� 
�
	���� 
������
	���
���/� �
�
���� ��3� 	���/�
4�3� �������� �	
���	�� ���
�
� 
���4�G���� 
�� 7�
��
�� �
33�� �	
���	
�
37����
GH�1�I��3���
	#�53���
���������	
���	����
�
�����
�4������
���� 	7
������	��� ���
E��� 	� ��4���	�� 
��
	�
�� 1�������������� 7
=
������ ��
E�
�� �����3�#� ^���
�
��;# ;# (
����
	�� �	������� ���E�� �
/�
4�
�
����
4�������
���
������4���
���
��
��������
��
�/��� ����3����
������
	����3� ����3�4���
�
� 7
	������� 
�F���
	/� 
������ 	��3����
	
7�
��3����	�����
����������/�7
�4����	��� ���4�����
������1��	�=
���/�
����	��������
�1
��3
����
4�����
���	����1�������
����������/

�3�4��� �
��� 
������1� �����3#�M�� 7
�4����	��� �
���3
�����
	����
��3���3���4����1�3��
�
	�����7
����������1�3��
�
	�������������4
��
����
����������#



�#

!����������
�����
�
�����
��	��"�������������
�
����

����	����
�
����
9�����1���
4��1�3
E�
������
	������3/�4�
���7
���
	�������=

���3��1�3��
�
	���
�1
��3
�����7
��3�����
�F����������	�����/�����=
�
���
	������1�7��	�������
���
4��3�	�	
��3W�M�4�����
�	����
���=
E�����	�
7���������������3�.�����������	�������
4�������1=�
��	�����
	�
�F������������7
��3�������
���	
�3
E��3/� �
� I�
� �����3�#�P
��
�
�
�
/�����
�F����������
4��/�3
E�
�����������/�����
��
���
��#�53���

7
I�
3
� �
E��� �����=�
� 7
�������/� 
���	��3��� 4����� �����3�/� 7��=
�����/�����G���3����H���
������
4����#

���	��3��	��
�F����/��1
�����7
�3������
�����
E�
����%�
��4�=
��	
�I��3���
	'/�
��������
�
��1�3
E�
��4�����������3
�/�����
�
��<�
���#�O�
��	�
�
��
�F�����
��3�����	���/�	�7�
��	
7
�
E�
���������3�/
����
3
E�����3#� ����������
����3
E�
�7������	��������
3
E������
���� ��
�
� ���
������
�
� ��3��/� �� �����3
� <� ���� 7
���
���
�� ��� ���
�
��3���
���������%����#�D#D'#

$����%�����

��������
�
����������
���������&

�����3� P���
3
E�����

9���3
�	�������� 4����� �
����
���
G�� ���
���
�

+������	������
	
�
7�
��������
����=
��1�4�����

5�3�������/������4�
=���
�
�����������
��	���#�
�������	� �����3
� ���	
�/� 3
E�
� 7
�
4���� ��
�	��3������������3�/���7
	��E����
G��/�	��
=
������	���
/����
����
���
GH
G������3


M��
	�����	
���	�������3������/�����
4�
=���
� �
��	���� ���� 
�����#� �����=
��	����	
�/�3
E�
�7
�
4�����	������
=
3
E������7
3�����

�
37
�
	��/� 	���3�
�� ���7
�
E����� 4������
�3�G������GH������4����

���7
�
E�����4����������3�������4����

V�����	���3
�	�����������
��G��	3���� V���������	������3�E�
��
�
����3
�
�
�
����
���
	����
������


+
	���������	�����
�����
��
��#�+�����3���=
�������
��
���3��������7
	������

+
	������� %����� 
�
� ����'� ��	����� 
�
���3���� ���� 
�� 4����� 7���3��
	/� �
=
���	��GH�1�����
3
E�����

X���3�
����
3/� 1�������������� 
	
� �������� ��/� �
�
����7�
=
�	��G����
��
	��3���
.�����4���3�
E���	��I��3���
	6�����������������
	��1�I��3���
	6�����4����	�����3�E�
���3�6����
���
���/�
7�����������
���
��
����������1�4�
���6�
��
������������3
��
������
����I��3���
	#



�'

����������
������������
�
���

C�
�����������R	
������
9�����
�H��� 	��3�� ������ �7��������
	� ��
E��
���7�����4�����


�H���3�����/�4�
��	
���	
������3�
�����	�������	��
�H�3��	
���	
3
3������#� �
	��3������ ��
4���� ������� �� �����3���� 7������	�����
7
�	
��G���
	
�����
�3��������
�����
��4�
�������1�4���
���
	
�
7=
�
���������3�%�����3�������3'#�+��4�3�4����������3����1
������	����=
	����/���������1�������1�I	
�G��
���
	����/���������4��1�
�
	��1�
�����3�
�������1����� 
����������#������3�
���� ���� 	��
�H��� �	
�=
��	
�3�������7�
�	�������4���������
GH����
���	��GH��.������3�
���
7�����4���
����������
���/������3�
����7
���	������
����������
����
�������3�
���������/�
��
E�GH���4��
	���#

+�����4��������������
����4��
	���/� �# �#� ��
�������7��	����
�
	
������	��� ��� 
��
E�GH
G� ����
/� 
�������� 
����������3�� ��� 
	-

	�� ������
����.����
��
���
	���
���������3�/�	���3
�	�����
���
�
���	��GH�1� ��� 4�����/� 7
�4�����
���� 
����������� 	���� �����3��

7��������
�� ����#� +
� 
��
����G� �� 4��
	�4���
�� ��������
���� I���
7�������� 
4�	����#� 9���
�� 
�
�����
�� �����	��� 7������
��� 
7����=
����
G�����#�9
� 	���
3� �����	��� �
����
4�
� 7�
��
� 
	������ ��
� �
=
���	����4����/��
����3�����������	��#�+���I�
3�����
�
��������/�4�
�
I����
���	����4������
�E���	�7
�����������	�7�
��	
���
3�7
�����/
� 	�
7��������
���1�7
����
	������
���#�O�
�������������3���
7����=
������/�7
�4�������������	���3
�	�����
�����
���	��1�4�����/��
�
=
�������	�������7������
3������3�
���#�X��
��7
���
�������������
����
3
E�����������	��
�	���������
�����#

�����3��3��	���������3
�4��
	�4���
��3�������#���7���
����=
����������4����	�����
���
�
/�����
���
������3�
�7
�1
�����7��������
�����������
#�P�
��4��	�����������1��������1�7�
���3�
��4�
��	���=
�����
�1
�
3�
�������3�
���/������
���
	����3�4������
H���	����1
	���3
�	������
37
����
	������3�/�����
7��	�����3�
7�
H����3���=
����
	�������
��3
����#� ����������� 	
��������7�
���3�/� ��
�
�
�/

��4�
�
�
H���	�������7
��3�7���1
�������
	��/��
����	��
����
�
=
	���������3�
���#��������3�
���G�3��������������	��������E����4�=
�
	���	�7�
������
�
4����#���E�
3
���
����
�����
3
��
��
����/��
����
	���J����
E��
�7
�7
�
4��3L/��#��#��
	����������7��	������	������3
/�
	���3�
��
����
	����3�E�
��
�
�������3�GH�3���7�
�����
������3�
��E�������3�
7��
3#



�(

!����������
�����
�
�����
��	��"�������������
�
����

�	
���	
������3�
����	

�H��7���
H��7�
����
�7
������#���=
���3��� ������/� ���
7������� 4��
	�4���	
3#� 9� ��4���	�� 
�
����
����
7�
������ 7
������� 
�3���3� �
H���	
	����� �	
1� 
��
	��1� 7
�1
�
	.
�������4���
�
����������4���
�
#��
	�� �U�I�
�7
�1
�/�
��
	��������
�������������
4��3
�
� �	��������� 4����/� ���7������	������ ��
E�
�
�
	�	�����
	
�
7�
�����
����7�
���1�
�F���
	/���������E��3������	
3
�3�GH�1����	����# ��
�� �U�7�
��	
7
�
E����7
�1
�/�
��
	��������
��
������
�
����4�����/���
��
	��3����3�	��������3�	�
������1�	��=
�3
�	����������3�#

;������4�
���� 4��
	�4���
�
� ������� ��1
���� �	
�� 
���E�����
	 �
H���	
	����������4��1���
�/�	��1���������������/�	
�	����
���
��
�
�
3���
4�����	����
����
���1�	
7�
�
	#�93������ ��3��������
�=
������� 7�
����� �������� ������#� +�
����� �������� 7�
�	������� 	� 	
�=
����
	����� 3�E�����7�������1� ��
�/� ����1� ���� ����4������ 1�3��/�
��
������/���
1�3������# 7#� �
����������7��������������
����
��
=
	��3����3�3�E�����7�������3�7���3���	����3�<��
�3���
H���	
=
	�����4��
	�4���
�
�����������������3�#�53���
�I��3�
����
3�
���7�=
4�	���������	�������
��#

�	
���	
������3�
����7���
H�����
������3�7
������#�9���1��=
4����1���
��1�I�
�������
�����	�7
���
���������	����1�3
�����/� �	=
��GH�1���
���E����3�������
�3�1�
�F���
	/�3
�����/�
7���	�GH�1
����3�4���
��7
	�������3����������1�
�F���
	#

�����3������E�������/�
��
E�GH���4��
	���#��	
���	
������3=
�
�����	�������������	����3��	
���	
3�7���
��#�����
E��
�3�4��
��
	���/�
��
E�GH�������3������������
��4���������3�������3/������1�=
4������
�����������	����
������
E��1�
�F���
	#�+��4�3�����	�E�	
�/�
��������E�	
��7���
��������	
G���	
�����
���
����������/��	��GH��=
���
�F����	��3����
�
��4����3����������4����3�����
��3�#

��&��
#����%"� !'%�#!# "$

+�
������3�
7������3�����

������������3��	��G�����1�����=
���������#�+
�1
������������������������3�3
�
���������3�3�����=
��3�/�������������
�����7�������
���E�������
G=���
�
��
�	�E�
G
1������������
������3�%����# D#"'#



�)

����������
������������
�
���

$����%����#

���

���*�%�&�
�
���

������������
�����7������ X�7�������3

+���
���
�F���
	 X�1��4�����/
��
�
��4�����/
�
��������/
I�
�
3�4�����

Z��������7
	������  ����3����
	�����/
	��
���
�����/
���
	��

X�7�����
����3����
��� M������������������

��
E�
�������
��
�����7
	������ +�
���������
E���

9�����
4�
�
���7��	�����/���7
���
�3
�

�����1�3
�����
	����

����3���4�����/
����4�����/
1�3�4����������#

���7����
������
	���
��� Z
�
�
�
������
	�����/
7�
1
�
������
	�����/
��3

������
GH����

����3
���3����
�
�������7������	�����1��������������#

���

�Z���L����
���������U��
����	��
!������
����	

�"�����	�����������3�/��
��
������
�
�
��	 �
=

�
H�3� 
��
���4�
� 
7����������� ��� �
��
����3� 	� ����
�H��� 3
3���
	��3���������
��3�/�
7���	�GH�3��7���1
���I��3���
	��������3�����

���1��
��
�����	���
���#��
���	����4�����	������3����
	���
����=
���3��	���3
�����	
G���
4�
���	�����3�
����
3#�+��3��
3������3�=
���
	���
�������3��3
E�����
E����3�1���4����������3
3���#�����=
�
	����

�	����	
GH�1�4��������	����������������7
������	�4��������

��
���4�
�
7������G�����
���������
���
���
���	�#�X
�E����3
��3
E=
�
���������
������
���
��/�������4��������
����
�G��
�����E��3#

#�����
���
��/� ��� ���$	������
��/� �����3�� <� I�
� �����3�/
7
	������� �
�
��1� 
7���	������ ���
��3�� ��
���� 	��
���
����#�  ���
	��
���
���
�� �����3�� ������� ���
H��
� �
��
����� �� 
�
����
�����
	���3�
�� �	���� I��3���
	� ���
����
4�
� ���� 7������������ �
�
H��

7
	������������3���
�	����
7��������
���G#� ������
�������3���3�=
�����������7��	������	
�3
E��1�7���1
�
	����
���1��
��
�����	���
=



�+

!����������
�����
�
�����
��	��"�������������
�
����

���/��# �#��3��������
77����������	�7��
����
	������
��
����������3��
� ��E�
3
��������G�7
���	�����	��

�	����	����	
��	��
���
���#�+��=
3��
3���
1����4���
�������3��3
E�����
E����3����������7
���3
��
�
I�����
��
���77����
���������
��1����#���
��	�7
������� �������7

��3
��
� �
������
�
� �������� ��	����� 
�� �
��4���	�� �77����
��/� 7
=
��
7�	����	���3
����
�7
��
7����������3����	��3
�
��������/�
��1�=
��������7
	��E��������E�
�
������1
��H�1���	�
4������
�F���
	/�
�
�
��4���	�����	�����������
���
E�	�GH��
�7���
��������# 7#

%�����"� �	������� �����3�/� 
�
H���	��GH��� ���
3���� 	��
��
�	
��
�7
	�������	 �
�
H�3#�9 
��
	��	��
�����E���
���������
����
� 7���7
�����3�1��7
�
�
	������	��/�	������3�1��� 
��
	����������
��
�3��
	����1� ��������	/� � ���E�� � 
4��
3� �

���E����� ���
�=
3����
�
� 1��������#� �
�
	
���	
	������ I��3�� �

���E����3�� 3
E��
�
���
� 4��
	��#� +��3��
3� ���
	
�� �����3�� 3
E��� ��
E���� 
�����=
�����/� 	�7
���GH��� ���
�
���� ���
��� 	 ��4���	�� ��7
�������#� 5�=
7
��������	��
7����	 
��
������� �����4��
3#�5����������7
�������
� �����4���� 7�
��	
7
�
E���#� 5�7
�������� ���������� 7�
����� �	
G�
���
�
�����3
E�
�	��
����#�^����4��/���
�
�
�/�7�����������������

� �
��G�����	
����������#�9 ����
3��
����3�E�
���3��7�
�	������
���
	������
����#

��������������7
�����
3
�7������
�%1�������
�7
	������������=
3�'�
��
	��/� ������3�
�
����
�
�/� ����GH�����1�������������� ��
E=
��1������3#�M����
7
��������������
��
	�����7�������E�
�����
�����
��
�� �����3���� ��
�3��
	����3�������3#�X��� 	� �����3����
	���
��
�����3��3
E�
�������I��3�������
1����4�
���#�9��
�E��	��3�������3�=
���
	���
G������3
�3
E�
��4������4�����3���
4��3���
1����4���
��
�����3�/�������
7
������	��
���
����7���1
�
	�����
��
�����	��
��
�=
���/��

�	����	���
/���	��3���
�G�%7���1
������'�����������%7���1
��
�3����3���
'#�X
4�
�����E����
1����4���
G������3
�3
E�
�����3����=
	��������4���������
4������
	
�/��
����������������7���
�
�#

���

�Z���L����
����U�L���U
������		

��
+
���7
�����
����3����
����	�����G��
���������������������=

���3�#�+
�����
3
�7������
��������������������3��1���������
G����
�����4�
�����7���G�	���3
�����	�����	�����������
�# &�
����� ��-
������
�����G���7
�
��
���G�
�3���	��������	�����������
��3���
�/



�,

����������
������������
�
���

I�������/� ���
�3�����# '	�

����� %����  	
�����'� �������� ��
��=
�
	����
��	������������#�+���7
��������/�4�
���������3�E�
�
����=
��3������3��
��3�������3�3��
7��������������
4�
���G��
�7�����
�
4
	��	������
����3
����#

���

�Z���L����
�
�
S	

���
��U��U������
����	��
+
����7������
E�
���������3����	�G��7�
����/���
E����� 
4���

��
E���#� �������	���	����
�����7����
��
	�
����
7���������������=
3��	
�3
E�
���3��
4�����3�
�

�������	�����1���	�
������1��	�����
�����3�#��
��4���	
�I��3���
	/�	1
��H�1�	������3
/����
��4���	
��	�=
����I��1�I��3���
	�
�
��
	��	�G��4���
�	
�3
E��1��
��
����/�	��
�
=
��1�3
E�����1
������������3�#

(������ ��������1���������
G�������
����3��
��4���	
3�	
�=
3
E��1��
��
����/��1�7
	�����������
�
7���	������	���3��1��
�����
��
��3���3���4���
��3
�������E��7���	
�����
	�����I3���E�����1
�	
���	#�V���
�I��������G��7�
�����3��
�����3
�����#

����
�� �������� 
���4�G���� ����

������3� 	�
������1� �	�=
���/� �
� �
7
���G�� �1� 
7������� �
H���	
GH�3�� 3���3���4����3�
� 7�
���33��3��������	�3�#�P��
��3��
�
	/�7��	�����3�1�����
7�=
������ ��
E��1� �����3/� ��3�
�
� �
���� ��
E��/� 4�3� 	� ��
4���7�
���1
�����3/� �# �#� ���� 7
���
����� 3
����� ��
E�
�� �����3�� 7��3���G���
�
3��������7
�1
�
	������������������3���3�����#

&��
� ����
�� �������� 1���������
G���� ���4������
�� ���=
	��	����
���G� �	����� �
���
�
� 4����� I��3���
	/� 4�
� ����G4���� 	
�=
3
E�
����3
�����
	������1�7��3�3��3��
��3�#�^��������7��	���7����
	���
7�G�� I3���E������� �	
���	�� �����3��/� �

�	����	���
/�3��
��
3
�����
	�����I��1��	
���	#

+�
���3�� �����3�3�� 3
E�
� �4������ �����4���� 3�1���4������

���
���	�/���E���
	
���
���
E�������
4����������3�1�����#�+�
��
��
I�
�� �����3�� 
�
��
	����� ��3/� 4�
� 
��� 7
4��� ��4��7�	�GH�� 
7���=
	�����������3
��
��	������3�1�����#�X�1�
�
��4�������1�3��7�����=
�
�����
��7�
��
�
�3��������
�
��
���	��3�������3����
�
����
����=
	�����
���3�� 3��
��3�� ���E�� 3
E�
� �4������ 7�
���3�� �����3�3�#�
��
E��3�������3�3���	��G�����
37�G���/��	�
3������
	�����������=
3�� 
7��	������ 7���7������3#� X�1�
�
��4������ �1�3�� ��
����
��
�
�

�
��H�������E��3
�
3�������
���
������E���4����������
E�
����=



�-

!����������
�����
�
�����
��	��"�������������
�
����

���3
����=�����
E�
�
�7
	���������
����
���1������3�	

�H�#�M4���
��
E��3�� �	��G���� 
�H���	������ �� I�
�
3�4������ �����3�#�  �E��

��
�������
����
�������
�����������
77��1���������
G����	��
�
��
��
E�
���G#

���

�Z���L����
�����	��U�
���	��
��		

���
�
���
+
� $���)� ���	
� ��	

�" �������"�7
��3�����������3�/�
��
=

�
�
��
7���������	���I��3����/��1�	���3
�	���/�7��	����
�F��������
	��
������
7�����
37
�����/��	����3�E�
�	��3���
37
�����3������=
��3�������3�/�������
���E������
�
��1��
�������������
����
���
=
��������3�#�+���I�
3�7
����
3�	�����/�4�
�	���I��3����������3�����1�
	���3
�	���3��3�E�
��
�
�/������E��������3�������3��3
E�
�
�
���=
�����	�	�����������4����1���	���3
����#�+����
�3
���
	���������4�
7�������� �������� ���� 1
�
�
� 
������
	���
�� �����3�� 7�
���3����
���
����� 
7���	������ 	� 	���� 3���3���4���
�
� 	���E����/� ��������
I������	�
���/�����������
����
���
	����������3�/��
�
����3
E��
����� 7������	���� ��
E��3� 
��	�����3/� �����3
�� 
��	�����/� ��
E=
��3��3���3���4����3��3
����3�/�	��G4�GH�3��	��������
��	�����/
� ����	����	�����# 7#�9�E�
/�4�
�������������4��7���7������	��������
	 	����1
�
�
�
������
	���
�������3��
�
H���	��������������4����=
3��3��
��3������7
���
	����3�3
�������
�3����
	���
�
�7������	��=
���������3�#

+��3��
3�1
�
�
�
������
	���
�������3��3
E�����
E������
E=
�
��I�����
��
��
���
���	
#�M7���������
����
���7�
��	
������7
3
=
H�G� �����3�� 
��	�����/� 
4���	�GH�1� 
��
	��� �
����
���
	����/
	 �
3�4���������4����
3
	/�����������
����I�����
7����������# �#

+���7������	������
�F�����	�	�������$� ���	
� ��	

�" �����-
�� ��� ���	����� ����4�� 
7��������� 	��� 
4���	��3��� �
37
�����/� �1
�	
���	���� �	����3�E�
��
�
�/� �� ���E��������3�������3�#� ���7�
1


������
	���
�������3���
�3��
��������
��3���
7���3���
	����
��=
��
������1����
�
3���
����/��
�
�����
�
�����1���������
	���#�M7��=
��������I��1�7���3���
	���	
�����
	�������
����
������1���	���3
=
�����
�
H���	����������
��
	��������
�
�
��	��
�
4�
�����
�3����/
1���������
GH���������
�3���
�F��������7�
����#� �����7
�
4�����

������1����������������7�
������G�����7
	������������3��	����
3#
+���I�
3�7���7
��������/�4�
�7
�
4���������
������
��������
�����=



�.

����������
������������
�
���

4���
���
��
	���
���G�����
�3
E�
���7
���
	���� �����
�
��3��
�
=
	
���3�#�X��/���7��3��/���������
������7
�
4������
��
	�������������=
4����1�����G����������
����
���
	����3������3�����
�����4���
3�
�����	����	��3���/��# �#����
��
	�����	��
�
4��1�����G�����/��
���

3
E�
���7
���
	���������
�
�
���
	��������
��	��
���
���G#

+��3��
3���7
���
	�����7
�1
�����
�
���E���G�
�F���
	�	�	���
7�
1
�
������
	���
�������3��3
E�
��4������
����	�����1��������=
���������E�
���������3����3�
E���	
3��
37
����
	#�9�����
3���
4��
1������������������E�
������
77��
��
��7��1�I��3���
	�
�����	��=
	�G������� 
��
	����� 	��
�
4�
�����
�3����/� 7
�
4���
�� 	� ���
��=
���������G����������1����
�
�����
�����4���
3�
�������	��3����7��

7���������1� 
�
	��1� 	
������	
GH�1� ����
�
	#� ^���3� 7
�
4�����

���������7�
������G�������	����7���
��I��7�
�������
�F����#� ��=
����
��������7
���
G����7���7�
	����������4��
	�1���������������=
��E�
����	���������3�#�

�	�����	
� ��*���� ��������U�I�
������3�/�
�����GH����	
�=
��	
3� ���7������ �� ��3�����G�
��
	��� 	������� �����/� �7
�
����� ��=
3������ ���
��
�
� 7��� 	���3
�����	��� �
� ����
�/� �
1������ 7��� I�
3�
�	
���	�����
���
���6������3�/��7
�
������
�3��
	����	
�3
E����	�=
�������7
	���������	�������������1�����
4���#�O���
�
����
����
�=

��
	���������4��3�	����
��
��������3������	��1�I��3���
	/��
�
���/
��
��
����
�
��/�
���7�4�	�G��	
�3
E�
�������7�����/�7���7
�
������
�����3�� �� �
	�3� 
��
	��3� �
H���	
	����/� �� ��
�
�� ��
�
��/� 	�
���
I��3������
7��������
����	�7
	������������3�/�4�3�����
���G��7�
	�=
�������������������3�/�7
���
��������3
����/��
�3����
�����
7������
� 	 �
��4�
3��4����
7��	����������3�������3�3�#�+��3���3����3

���=
���
GH�1��������3�3
�
����
E������
�
��4�����������3�/�7���7������
���1������3��
7��	�����/��
�
���������
��
���
7��	���������# �#

��(��
��)# ���#!# "$

M7������� �	
���	� �����3� 3
E��� ����� 
�F�3��3� �� ��������3#
X���
�3��� �������
���� 
7����������� ��3/� ����
���
� 7
��
��
� �
E�
�

7������ ���
3��� �����3�
���#� P���
���
� ������ ����� 7
���	����� ��=
��4�������
7���������� �����3�3�4�����
7��������1� �	
���	#� ��� I�
=



# 

!����������
�����
�
�����
��	��"�������������
�
����

�
�
E�������
�
/��
�	��=�����7
	��1�
���
�
�����
3��	��
�����4�3��
�	��������G��	
���	�3�/� ����������3����� ���� ��
77�#�V�����D"���)
	������� �
	������
� 7�
��	
���
� �� ��� ���
�� �����
�
� ��������
�
�
�3����#�� ��3�E��
�7�1
3�3
E�
�7���4���������D$/���">��	
���	#�X�3���
3�������������
�
�����
�����	�	������������1���
77��	
���	�U�	�7
���=
���
��
E�����#�+��	�����
77��<������4�������	
���	�/���3���7�
����
����������#�9�
������
77��
4���	�����
7
��������
G�7���3���
G�<�
	��3�/�
����	��������3��
������3�/�����	�E�����	
�	��3���#�X�����
��
77��<���3�����
E���/�
���E�����7�����4�����������3�����	
���	�/
7���
H�������G4������
������3�3�U��������4�����#

C����[�
����
�
�
���
�����4����3���	
���	�3�����
	�3�
�
����
�����
������
�
��
=

��
����� �����3�.� �
/� 4�
� 3
E�
� ���
� ��� ����������� ��� 3��
	���
�
�
�
������������3�6��
/�4�3�
�������������3��	��G�
�/��
�������
=
	������3
3����	��3���#

����������	#�9������ �����3�� 	���
7���� ������4�
� ����
�/� ��=
�
�/�
�
�
�����
�/�
���4�GH�����
��	���
�
������
�
#�O�
��	
���	
�7
=
�	
�����
�������������3
�
��
��
E�GH��������#�M�
������	
�3
E�
���
J
	�����L������3
�	�������
3�3���#������4�������	
���	�/�	��
3�4�����
���
���
���/�7���
H���G�
3
�
�F���
/�����
���
������3�
3
#�P
�4���

��E�����7��1
����	��
�
	
����4��������������3����
�F��������
���	=
��GH��/�7
��
���
�
��
E�� ��������
�
����3
�
����7
�
7��������G#�
 ��������3��E��I�
��	
���	
����
���
����
4���������4�
#�:������4�

���7���������
1����������
���
����	�
��
E�GH�3�3���/�3�����3
E�3
���	����I�
������3
�#�O�
/���
���/�����
3
E�����#


���
����	#� 9������3��/� 
���4�3��� 
�� 	���
� 
������
�
� ��=
���3�������
���
	����
��
��
E�GH��������/�
����	������3�E�
��
�
��
��
�3���	�G����7
�
��3��	�H���	�/�I������/����
�3����/���
��1��
H=
�
����#����7����
�����
���������3��3
E�������������4�
�#�M�������
��� 3
E�
� 7
� �

��
����G�3
H�
���� 7
�
�
	/� 7�������GH�1� �����=
�
� �����3�/� ��3
H�
���� 7
�
�
	/� ����
���
GH�1� 	�
���� ���#�9� ��=
�
�
��1� ��
4��1� ���7����
�����
���� �����3���3����7�����7�����
��
���4����#�P�7��3��/�I�
�
3���/�
��
	������������
�����
3�1
�����	�/
�����
4���� I�
�
3����7������	��G���
�
�������3��1
�����	������4=
�
�� ���7����
�����
���#�+������
�����
3��7
�
�����E�
��1
�����	




#�

����������
������������
�
���

7������	������
�
�������3
������������
��
�����
���/�7
4���	���7
=
�
�����������7�
�
��
	���3��
���	�
�������
#�9����
4�
��I�
�
3���/
��
�
�
�/� 1
�����	�� 1���������
G���� 	��
�
�� 
�����
���G.� �
�����
4�����7
�
�
	���������7�
�
��
	�7����������������
�1
�����	�/�	�1
��
������
�#�O�
������4���	����7����
�����
����1
�����	�
����	������=
�������
��	����������1������������I�
�
3�4����1/��������
�������1

��
�����#

�	���������3���
�����
���3�G����7��	�������1�������.�7
�
���3
������ 	������ ��� �����3
� %�1� ����	�G�� �$��	�� �������'/� 7
� ��
��3�
�����3��
����	����	��������������
� %�������	��������	�G����$��	��
�������'#�+���4����	1
�
	���	�1
�
	������3�/������E��7������
4����
1��������������3�E�
�	1
�
3���	�1
�
3�����	�G����+�

���
	��
�"
������� �������� ����������� ���
��� �*�
	#�9� I�
��3
�����
��
�=
��	
��� ���
�3����� 
� 	�
������1� 
�
����
���1� �����3�#� P��3
���
������
��4�
����3
�����4���
�
��H���/�
���4���
�	7
�����
����
4��
����
�7���
�����
��#�P�7��3��/�7���7�
�����
	����� �1�3�
�
��H�=
����7�����
�
7���	����
�
�������������77������%��7����
��'���7���=
��
��
�� 1������������
�/� �
�
���� 7
����	���/� �� ���
�� 	��
���
���G�
�����4����������3������
	���	����G����	��
��������#�+���I�
3��3�=
������4���������������7�
��������7������/����	��4���
	���1��������=
������3
�����<����������������������
����������������/���
�H���	��
��7�����
��
��1��������������
�������� 
�����
	�3����� ��7����
�
	
�����4�
������4���
��7���
��#

������������������������	�������������	�������#�:���� ��=
����
���	�
����4���
�
��H���/��
�	��������/�4�
������3����
��
�
���/�
��3
�
�����6�3
E�
�
����
E���/�4�
����������4���	��	������1�3����1�

���4�G���#�M7������� 	�
����������
��
�
��
���� �����3���	
�����
�� 
�
�
�����G� 
��
�������
� 
��
�
���1� 
4����
	/� 7�
	�����G� ���=
����3�E�
���3�#�X���7
�	�������7
������
 �	���$ �������� +����
���
�������
3�����3
�������
����	�����/�4�
�	������������
7����4����
�
E�� ��
��
�
���/� 4�
� ����
��� 	��������� �H�� �
���� 3����1� 4�����#
9 ���
�������7
�
4�����������1�4�������7��
��4�����������3�/��
�
=
����3
E�
�����	����������� ����	�	 ��������

������������������	���	
���	
�����G4������	��
3/�4�
�4����
�����3�� ��� ����	���3�/� ��� ��
���
	���� ��
�� 
�� ��
��6� 
��� �	�����
3�E�
��
�
�/� 	���3
�����	
G����
������
�
3#�+���I�
3��	
���	����=



##

!����������
�����
�
�����
��	��"�������������
�
����

���3�� 	� ���
3� �
H���	���
� ��	����� 
�� �
�
/� ���� �3���
� 	���3
���=
��	
G�����4����#�+
I�
3
�����4���
�	�E������
�3�����
��	���1�4�����#
+���4�����
H���	����1��	�����3�E�
�I��3����3�������3������	������
������� ����
���� �������#�P�������
���� �G�
�� �����3�� 
7����=
����
�����
��
�
���
��3�����	����4��	����3������4����3��	
���	
3
�����3�U�����
�������	

�����#�+
���������
��
���
	���
��������=
���
��
�����������7������	������
����
���
���������3�.��	�����������
����7��G��4����/�
���E�	�G���1��������
�#�T��
���
���/�
�3�4�����
����������	��������	
���	
/�7
�
4����7
����7��GH���
�F����������=
�
���������3��U�4��������
��
�
#

��	���[�
����
�
�
���
������3�4����3��	
���	�3�
��
�������
����
�����
���/����3
=

���
�3
���/���3��4�	
����	
�	��3�������
H���	
	�����	���3���GH��=
��������#

����������	����	#�+�
�����/�7�
��1
��H������	�1
��1������=
3�/�����3����	�G������������
�����#

�
�����������3��<�I�
����7
	�������	
�	������������6���3���=
���/�7�
��	
��3��������3
��	�
��
E�GH��������6����
�������������=
�����
���6�7�
�
����/�7�
��	
��3��������3
�#

5��3�
E���	���
����	�1
�
	�����
���3�
E���	���
�����
�����/�
��E��������
�
��1�3
E����������3=�
�������4��
=�
���7
���
	���#�+
=
I�
3
�
���������E�������3��3
E�����
E�������������1������#

�
�F���/���7
���
GH��������3
�	��	
�1�����1/��
���/�������	��=
�
/�
����	��������
��������
7
���
4�	�����1�7
�
��
����G����	
�3
7
�����
���3#�X���7
�	�������7
������ ���	�
�/� 	�
�
���7���
�/� ���=
������
�/���E��������
�/���������
���������# 7#���
	��
�����3�	��=
3����� ��� �
/� 4�
� 	��� I��� ���3���� 
���
4���/� �
�F����	���/� 
��
��=
�������#�X��/� ���	�
���
���������37���4����������	�����	��6��
�7��
	��
��� �	���������� ��� ������
	� 7�
4�1� 7�
��	��3�1� 	� 3�������� ��
7��	���7����	�1
������
����
����	������4���	�/��
����
	���
��������=
������
3�7
3�H����/���
���
�3
������7�#

5���/�	�����3��	��3
3���������
�
��	
���	�������3.�
�F����	�
G
3�
�
�
����
�����
�������
�F����	�
G�
7
���
4���
�����
�����#

��������������	#�P��	1
��1������3���
E��7�
��1
����
7����=
�������7�
�����/�	
������	
GH�����������3
/��
�
����7��	��H�G���



#'

����������
������������
�
���

%7
���������7��
����
	�����	������3�'�	��
�����#�P��
	�3�	1
��H��
	
������	�� ������	��/� �� ��3
� 7
�	��E���
���� �G�
�� �����3�� 	
�=
�����	��3���	�������3����������7
	�������7
��I��3��	
������	��3� U�
����������������#

�����������	�������
������������#�9��G�
�������3��7�
��1
=
������3������/��
�
�������
�
4���	���.�7���
�3����	�������������	���
	�7�
�����
�
H��������3�6��7
�
���	
	��������7�
��	
�����	
	�����3/

��
����������3�������1�7������
������
H���	
GH��������3
�#�5�3�����=
���	 �����3��3
E���4�
�
�
��
/��
�	����3���1�3
������3
E�
������������=
�
G�������������G���3������.���3��������3
�
�����4�����	�
������1�
7���3����1/��
���	������
��
��������3�����G�����1��
3�������#

�� ����������� �� ������! ����� �����#� 5�3�������� ��� �
���
�
������� �����3�/� �
� �� 	��� 
��������#� ��� ����
�� �����3�� I�
� 	����=
���� ���� ��7����	�
�� ��3������� 
��
E�GH��� �����#� P�����E�
����
�
H���	
	����� 	� 7
��
���
� ��3���GH�3��� 
��
E����� �3���� 3�
E�=
��	
�7
������	���������3
�������3�/���4���������
�1
��3
�������7��=
�7
�
���������	�����3�7���3���3/�4�
������7
����
��/��
������4��1
��
��1��������������3�#�+�������3
��������
������
�������3�����
�=
�����
������G�	��3������
����
�
4�	������������
�
��1��
�������1�

�
����
���1�����������#

9���4���	��7��3��������3
���3�	
7�
��
��
3/������
�E����

�=
�
���������
�
������3�������	�
���������3���
���
�
���G���3�������
	 
��
E�GH���������U������3��������/��
	7����������������������#�O�
�

7�����������	���	���3
����
��7���
��������3���������7��������4��=
�
���#�P�7��3��/������3�/�7��������4����������7����
������
�3����
	
�	��3����%�����/�7�3������/�7�
��	����������
���	�/�	���
=����
��=

��7���/�������
����
�����3��������# 7#'/���3��
4���	�7
���G���	
G�
�
����G/�4�3�3���������
���3���G����7�����3������1�	�
��
E�GH���
�����#� �
�
��7��3��� I�
�
� U� �
1�������� �	
��
� �
��
����� �	�
3���=
3����E�	�3��
������3�3��%�
3�
����/�������������/������
����
���'#
5������������E�	�1�
������3
	������7�����4�����
��
	��3���
�� ��=
3������3�������/���7��3������7���������4���7�����3������1�
�	�H�=
���#��
H���	
G�������3�/��
�������
�
��1�3
�
��	�7
�������/��
��=
�
��������3�������	������3��
7���E�G����3�������	������#�X�7�4���
7��3���U�
7��	�����.�7����
�������	�����������4��1�	������
	�
7��	=
��GH��
�	
������	����
�E���7�
��1
�����	�
��
����
3���37�#




